oOlol!,mw;m|IN|=o| o ||DT
O O|X | 0> |IN [N
—|lOo|M|>| Q|44 S
mi =19l o|l=|9|9]|
) Z | x<|{Mm|=|=
S| |T |8 |>|3
=
On Flo o | 4 |l& 1:100
= o N
Q E ﬁ = M = P
=(S|T|>|38E
— = 2 fa D 3
™ UM = N =]
DO FZ|=]_|I=< <
e > | N
= :
> —_
~ S
— o
O
3
>
©
o 3
N 0.00 188.20| potgczenie arkuszy
N 4 S| 1.80(186.40
8 AN
| 16.00 211/ 186.49 188.60 | studnia A I N
© «©
@
=
NS H N
> | 67.00 1.82| 186.78 | 188.60 | studnia | ING
(<o) «©
N
S
&
QN_\ : (@N]
& 10800 1.74| 187.01) 188.75 | studnia | &
© ©
~
=
~ : ~
& _|170.00 1.82| 187.41] 189.23 | studnia | IS
«© [de]
&
No
o
8
(@) : (@) ]
25200 2.40| 187.83|190.23 | studnia | IS
© «©
ot
8
D : (@)}
2 305,00 2.77| 188.13|190.90 | studnia | IR
[<e) (<o)
5
8
~ H ~
I st 3.06| 188.39| 191.45| studnia | I
© ©
&
8
&
o~
> _|419.00 3.03188.77| 191.80 | studnia I R X
= wod. miejski B110 S
&
8
S
@)
©  1487.00 N 3.04] 189.16| 192.20 | studnia ©
© [de]
—
Il
& —
&) O
O
N
O
- O
525.00| & 3 2.73]189.37| 192.10 | kabel telek., Rz.0.=190.40
o
S [560.00 2.43|189.57|192.00 | studnia
~
©
o
8
&
(@]
= [633.00 2.82|189.98192.80 | studnia
~
[<e)
w
w
S
A2
~J
~ _|726.00 3.59| 190.51| 194.10| studnia
~
[<e)
b
S
o~ _|760.00 410/ 190.70 194.80 | studnia
~.
«©
&
8
~ 00/805.00 4.19(190.95| 195.14 | studnia
~.
©
5
8
O | 851.00 4.19| 191.21| 195.40 | studnia
~.
(<o)
<
8
A2
[do]
> _|918.00 4.01] 191.59| 195.60 | studnia >
_\E > droqa_asfalt. szer.=5.0m E_\
N 925.00|3 4.05| 191.63| 195.68 [studnia N
~ N ~
«© o [de]
—_ o
o 935002 4.19| 191.69 195.88 | tréjnik_redukcyiny
~.
«©
8
953.00 413 191.79] 195.92| wod. przyt. 832
© _|958.00 4.11] 191.82| 195.93 | studnia | | ©
> s
o
NG 8
S 9700 4.06| 191.89195.95|tréjnik_redukcyiny
~
©
g _
: | B
3
™ &p02.00 3 3.93| 192.07| 196.00 | studnia | | =
\_\ = \
© o ©
= .
L E(Se i &
SF|m &
H am
8 28 3¢
E?r v %
e
ax
o
] g |2
N o 3
g g8 |2
9. 2
.-ﬂ € |2
- =
BE\T |2
O o
3y =
G g
=3
g2
S0
g R




